Odredi jednadzbu kruznice koja prolazi nultotkama i tjemenom parabole
y=-x>+1.

y=-—x+1
X¥=—y+1
¥ =—(y—1) = T(0,1) (tieme)
y=0 = ¥*=1, x==+1
A(—1,0), B(1,0) (nultotke)

k oo (x=%0)*+ (Y= yo)* =17
{Trek ... (0—x0)?+ (L—yo)?>=1r?

{Aek ... (-1-x)*+ (0—yo)* =1r?
{Byek ... (1—x%)%+(0—yp)?=r?
X5+ (L—yo)? =12 (1)
(1+ %) +y5=r? (2)
(1—%)2+y5=r? (3

2)-(B) = (1+x)°—(1-x)*=0
1420+ —1+2% X =0
% =0 = Xx=0

uvrstimo u prve dvijejednadzbe — (1 — yp)? = r? (4

(1+0%+yg=r? (5

(4)—(5) = (1-y)*—1-y%5=0
1-2y+Ys—1-y3=0
—2%=0= Y=0

-

dobiveno uvrstimou (1) = 0%+ (1 —0)? =
r’=1
kK ... x%+y?’=1





